WORKSHEET - SA I, 2013- 2014

CLASS -1V SUBJECT - MATHEMATICS

Chapter-2 Addition and Subtraction

FILL IN THE BLANKS

1. The answer in addition is its

The answer in subtraction is its

0+2,468 =

34,682 -0=

2.
3
4, +0=9,462
5
6

80,026 + 4,369 = 4,369 +

ADD THE FOLLOWING:

a) 6426
+ 262

b) 36421
42103
+ 51634




ARRANGE & ADD THE FOLLOWING
a) 4301 +8613 | b) 7649 + 326 c) 54321 + 6321

d) 9642 + 3618 + 1203 e) 18432 + 24690 + 11380

f) 36 + 126 + 40 g) 364 +2468 +326




DO AS DIRECTED

1) On holiday Sam. Spent Rs.3,469 on petrol Rs.3,826 on food and 3,640 on

stay. How much did their holiday cost them?

2) The annual fees for their daughter is 46,320. Their son’s school fees is Rs.

463. How much school fees do they pay altogether?

3) A car covered a distance of 9,825 km in first week, 8,320 km in second

week and 680 km in third week. How many kilometers did it travelled in all?

4) On Christmas day Tom collected Rs. 28,162 ,Rs. 5932 and

Rs. 36,154 from three persons. How much did he collect altogether?




SUBTRACT THE FOLLOWING:

a) 5626 b) 7003 c) 36415
- 3210 - 3211 - 24302

d)50000 b) 40003 c) 16346
- 32624 - 15340 -2134

ARRANGE & SUBTRACT THE FOLLOWING

(a)4625 — 1673 (b) 5642 — 2483  (c) 6080 — 1284

(d)9000 — 7384 (€) 39486 - 75382 (f) 97342 - 93201

(g)90000 - 51495  (h) 20500 — 12645




DO AS DIRECTED

. 4,326 people are in village. Of these 435 are children. How many are

adults ?

. On new year day, the bank received Rs.68,314 and gave out Rs. 9,402.

How much more money was received by the bank?

. In a garden there are 96,431 roses. 84,309 roses are plucked then total

how many roses are left in the garden.

. Anjali had Rs. 79,246 in her pocket. She gave Rs. 64,839 to her brother.

How much money is remaining with her?

. Rita has Rs.9000 she purchased a bag for Rs.4,321. How much amount

is left with her.?




